WHusqvama |/ @l

Yoo

IPL, R 148S, 2004-01, 106 31 47-61

R 148S

Spare parts
Ersatzteile

Pieces déetachees
Reserve onderdelen
Repuestos
Reservdelar

106 31 47-61
1



[ Electrolux

— ELECTROLUX OUTDOOR PRODUCTS
Service
brand | HUSQVARNA date NOV/03 SHEET 1/2
Model Product number
R148 S 9538765-06

31 32 33

K] The Electrolux Group.The world’s No.1 choice.

(HjHusqgvarna



[ Electrolux

L ELECTROLUX OUTDOOR PRODUCTS
Service
brand | HUSQVARNA date NOV/03 SHEET 2/2
Model Product number
R 148S 9538765-06
Pos. PN ELX Qty NOTE Pos. PN ELX Q.ty NOTE
1 531212676 1 49 531207697 1
2 531205863 1 54 531207856 9 TEFR 5x10
3 531210770 1 56 531206290 1
4 531208844 4 TCTC 4,3x16 FIX ZB 57 531212461 1
5 531205609 1 58 531206180 1
6 531205169 1 59 531205493 1
7 531207165 1 M6 H6 UNI 5587-6S-ZB 60 531205720 1
8 531204961 2 6,5E 61 531205726 1
9 531208491 2 M6H8UNI7473ZB 62 531205717 1
10 531207089 2 SQ M8X75 63 531205738 1 D.38,5x73x1
11 531205840 2 8M 64 531211512 1
65 531205739 1 D.38,5x50x1
ogme s o «
14 531207842 4 TTSQ M6x40 1/2F ZV 67 531205723 !
15 531210725 ] 68 531208425 1 TE M6x35 UNI 5737-8,8-ZB
16 531206043 ; 69 531212391 1
71 531206653 2 1,8 x 33
17 531208217 1 TCTC 2F D 5x25 72 531205536 5
: g 221 Zgggzz 21 M55|-/|17; :\“57 4;:;28 I %3112%23%279 % Wheel Housing
’ 74 531206287 1
20 531205138 1 75 531211515 .
21 531207836 1 TE M5x25 UNI 5739-8,8-ZB
2 53210573 1 6 isoror 2 TE Mores
23 531207937 1 TCTC 3,9x16 77 531204907 1 4x6,5 UNI6606 WODRUF
24 531207923 1 78 531205557 1
25 531212082 1 79 531207981 3 D.8E DIN 6798
26 531206545 1 Accelerator Cable 80 531207982 3 M8 H8 UNI 5587-6S ZB
27 531205191 1 Brake Cable 82 531207848 1
28 531207978 4 M10 H8 UNI 5588-6S ZB 83 531211573 1
29 531205214 8 85 531207243 1 17,2x50x1,5+0,1
30 531210761 2 D210/26 COP 86 531207237 1 11x50x2,5
31 531210580 4 87 531206649 1 D-S’B("gg)FXGS
32 531205042 4 88 531208260 1
33 531206644 4 UNI 8840-B12(13/24/0,8) 89 531211686 1
34 531208772 6 D.12E DIN 471 20 531208262 1
35 531208859 2 D.12,4x17x0,3 91 531207703 1
36 531205045 1 DX 92 531208899 1
37 531207847 2 D.12/34/0,7 ZB 93 531205469 1
38 531208778 2 D.12/28/8 6001/2RS 94 531212106 1 B&S Engine Cowling
39 531212390 1 95 531205581 2
40 531205046 1 sX 9% 531205823 2
M 531206652 4 97 531206305 4 M6 - DIM986-ZB-C.N
42 531207385 4 TEFR 5x12 98 531206306 4 D.6/14/1,5ZB
43 531206289 1 99 531206308 1
44 531212936 1 100 531212478 2
47 531206303 1 Z.29-L 730
531205108 2 "S" 5x5(-0,05) x19,2 DIAG

E] The Electrolux Group.The world’s No.1 choice. @ Husqvarna



Giovanni
                 531212358                  2       

Giovanni
               Wheel Housing


Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/



